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'Ur', 'Sabha' and 'Nagaram' were the village assemblies during which period?

Pandya

Pallava

Chera

Chola

The ocean is a huge body of saltwater that covers about percent of Earth’s surface.
45%

32%

71%

55%

Who among the following rulers was known as the Napoleon of Iran?

Bahadur Shah

Muhhamad Shah

Nader Shah

Ahmad Shah

Money supply refers to-

The total money the Central bank has at a particular time

The total foreign investment in a country at a particular time

The new currency notes printed by Central Bank at a particular time

The total volume of money held by the public at a particular point in time in an economy.

Kshetrajan is the most prolific composer of

Qawwali
Doha
Thumri

Carnatic music

Who among the following is known as the last ruler of the Nanda dynasty?
Dhanananda

Mahapadmanand

Govishanaka

Naagsen

Which of the following personalities refers to untouchables as Harijans meaning "children of God"?
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Swami Vivekananda
Jawahar Lal Nehru
Subhash Chandra Bose

Mahatma Gandhi

are oscillatory movements that result in the rise and fall of ______ surface.
Tides, Earth
Earthquake, Earth
Currents, Earth

Waves, Water

The Book “400 Days” is authored by?
Arundhati Roy

Ruskin Bond

Kuldeep Yadav

Chetan Bhagat

Who is the current director of Central Bureau of Investigation (CBI)?
Praveen Sood

Ashish Chandorkar

Jitin Kumar Lokhande

Arun Kumar Singh

Tillana corresponds to the of Hindustani Classical Music.
Ghazal
Thumri
Tarana

Khayal

Which of the following form of Carnatic music does not have any counterpart in Hindustani music?

Varnam
Jatisavaram
Kriti

Pallavi

Which of the following personalities titled *Omorto’ by Rabindranath Tagore?
Major General Rajinder Singh

Tipu Sultan

Amartya Sen

Amir Khusro

Open market operations denotes

The increase or decrease in Repo rate by central bank
The control of liquidity in open market

To increase or decrease the Bank rates

The policy of sale and purchase of government securities in the open market by the central bank

In which of the following branch of Carnatic music, a musician has ample opportunities of displaying his/her

creative talents, imaginative skills and musical intelligence.

@it fRdere

U ¥ 9T
wgTe it

SremRiie iy § s ohomaey @ T
R, gt
Y, gt
YRTY, gedt
ey, Ut

IR "400 S g grT foredt S @2
Srsyfa g

P ais

P TG

A9 W

Sl wird o) (W) & adarm e B §2
LI

ity TGRS

forfem TuR des

3E0 $AR Rig

fear fegeart T i &
oA

gt

GRiEL

gl 81

keI

FHffesd wia & Fafifad & 9 fog wu o1 figwart gia ¥ 9

Fofafad # @ fog afRra B Wiy &R 3 el AW f
ToR SR iR Rig

&y gear

e A9

SR IRy

AT TR TR 1 g 3

Fitg ¥ g7 YT ) F i a1 et

T e § 9@ A & o

Y o3I B ggM AT weH B

FET I gRT G TR A TeBRT whayfoal # fet o

FHifed Wi 31 Faffa 3 ¥ e o & @ Tider &
FH & TaT 3EER I gl



O 0O @ »

Q.No: 16

o 0O w

Q.No: 17

o 0o w

Q.No: 18

o 0w

Q.No: 19

o 0O w

Q.No: 20

o 0w

Q.No: 21

o 0O @

Q.No: 22

o 0O W

Q.No: 23

Tillana
Javali
Tanam

Pallavi

‘Elaborate headdress’ is the main feature of which of the following dance?
Kathakali

Lavani

Bhangra

Terahtali

Which of the following rivers originates in India and merges in India itself?
Brahmaputra

Kosi

Chambal

Indus

The false statement about Harappan civilisation is-

Meat was not consumed by the people.

The principal diet of the people consisted of wheat and barley.
The city was equipped with elaborate drainage system.

The streets divided the entire city into square or rectangular blocks.

When was the first Presidency Bank of India established?
1806
1860
1855

1840

How many members are there in the Monetary Policy Committee?
8 members
5 members
4 members

6 members

means the re-establishment of forest cover.
Reforestation
Deforestation
Grafting

Growing

Which of the following forces makes things and objects fall towards the Earth?
Friction force

Gravitational force

Muscular force

Electrostatic force

is the process of separating grains from straw using wind.

Winnowing

Threshing
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Direction: The following question consists of two statements one labeled as “Assertion” and the other as
“Reason”.You have to examine these two statements carefully and select the correct answer to the question from
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Harvesting

Weeding

Chemicals Chloroxylenol and present in dettol.

Terpineol
Polymer
Teflon

Phenol

Which one of the following is an exception?
soil nematode

Hookworm

Tapeworm

Roundworm

the given options.

Assertion: (A) Turtles, tortoise, crocodiles and snakes belongs to the class of reptiles.

Reason: (R) They have rough horny scales and scutes all over their skin and also they possess three-chambered

heart.

(A) is true and (R) is false

(R) is true and (A) is false

(R) is the wrong explanation of the assertion (A).

(R) is true explanation of (A).

Intensity
Resistance
Water pressure

Buoyant

The force of attraction is maximum in
Solids

Equal in all

Liquid

Gas

All fabrics will , but some are more combustible than others.

Explodes
Melts
Burns

Gets nothing

Which of the following is the characteristic feature of class bacteria?

green leaf like-plants
mosses
E. coli

kelp

is the upward force that water exerts on objects.
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Assertion(A):By taking the example of snakes, by killing small animals, we are harming ourselves.

Reason(R):If we kill snakes, then rodents that are eaten by snakes will increase in number and destroy the crop at

a large scale.

A is false but R is true.
A is true but R is false.
Both A and R are false

Both A and R are true

Dead plants and animals release
Water gas

Producer gas

Natural gas

Methane gas

Three bulbs are connected end to end from the battery, this type of connection is called
Open connection

Closed connection

Series connection

Parallel connection

Match the following:

1 Laminaria a Bacteria

2 Chlamydomonas b Algae

Vibrio cholera

v

1-b, 2-a, 3-a
1-a, 2-b,3-b
1-b, 2-b, 3-a

1-a, 2-b, 3-a

is a gaseous mixture that is both invisible and odourless.
Storm
Impure air
Pure air

Wind

Choose the correct mirror image of this combination- ZTHU55Q.

©22UTHS
0?ZHUTS
Q?2UHST
O22UHTS

Pointing to Samar a boy said, “He is the son-in-law of my grandfather and the husband of my mother.” How is

Samar related to the boy?
Son

Brother

Father

Uncle
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What will my mother’s father’s son-in-law's daughter’s husband be to me, if both my mother and his father have

Q.No: 38 only one child?
A Brother-in-law
B Husband

C Cousin

D Wife

Q.No: 39 Ris sister of P. P is brother of S. S is sister of T. T is brother of R. How is P related to R?

A Paternal Uncle
B Aunt

C Sister

D Brother

Given question has main statement followed by four statements. Choose the ordered pair of statements, where the

first statement implies the second, and the two statements are logically consistent with the main statement.
The child is either innocent or mannered

Q.No: 40 A. The child is innocent
B. The child is not innocent
C. The child is mannered
D. The child is not mannered

A AB

B BD

o} DA

D AC
In the following question, a series of letters is given. Some letters have been removed in these series, and they are
in the options given below the series in the same order as they should be. Study the given series carefully out of

QNo: 41 the four alternatives given below, and find the one that best fits in place of the missing letter of the series.
abc__ab__d__bcd__bcd

A baba

B abba

C bbaa

D dcaa
In the following question, a series of letters is given. Some letters have been removed in these series, and they are
in the options given below the series in the same order as they should be. Study the given series carefully out of

QNo: 42 the four alternatives given below, and find the one that best fits in place of the missing letter of the series.
__sr__tr__srs__r__srst__

A tstttr

B tsrtsr

C strtrs

D ttssrr

Q.No: 43 !’rashafnt‘s father is Kartik's son. Mayank is the paternal uncle of Prashant and Navin is the brother of Kartik. How
is Navin related to Mayank?

A Brother

B Uncle

C Nephew

D Cousin

Q.No: 44 Choose the correct mirror image of this combination- LOST
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T120
T20l
JToe
oTel

Choose the correct mirror image of this combination- 54655DRSXSFGCIY131GFXXG.
OXXI0IEI Y10 T2X2s0dz2oke
DXXIDIEIY1DDT2X2sd202k2

DXZI0ILIYIODAe X eAditaes
DXXADIEIY1IDTeX2dse2akt

The given question has a main statement followed by four statements. Choose the ordered pair of statements,
where the first statement implies the second, and the two statements are logically consistent with the main
statement.

The home is cleaned by either the maid or the housekeeper
A. The home is cleaned by the maid

B. The home is not cleaned by the maid

C. The home is cleaned by the housekeeper

D. The home is not cleaned by the housekeeper
AB
BD
DA
AC

Given question has main statement followed by four statements. Choose the ordered pair of statements, where

the first statement implies the second, and the two statements are logically consistent with the main statement.

The acting is either natural or rehearsed
A. The acting is natural

B. The acting is not natural

C. The acting is rehearsed

D. The acting is not rehearsed

DA

AB

CA

BD

A woman is facing north-west. She turns 90° in the clockwise direction,
then 180° in the anticlockwise direction and then another 90° in the same
direction. Which direction is she facing now?

South-east
South-west
South

West

Select the option that is related to the third word in the same way as the second pair is related to the first pair.
Mother : Father :: Aunty : ?

Nephew

Sister

Niece

T120
TeOod
1702
0Tel
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Select the Lettered pair that has the same relationship as given in the question. I &R H &1 T B ot gey vy § foT T g9m Way
Q.No: 50
Fish: Shoal el ;|
A Shark : School TG : T
B Audience : Theatre o « AR
C Elephant : Flock Fredt : oy W
D Whale : Herd A gs
Q.No: 51 Choose the correct mirror image of this combination- KILO73P. 39 GAoM 31 T U0 Bfd gH- KILO73P
A qetOLIA qETOLIA
B qETOIAL qETOIZL
C qevOILA qevOILA
D qevaoLd qeva0LA
If a mirror is placed on the line MN, then which of the answer figures is the right image of the given figure? & 3@ MN W T 40T @1 e, @ 2 & 7 IR srpfad
M N M
Q.No: 52 NN
N
N N
RN SEN
N|

7

/| /|
D T A7

l/ |/

Select the option that is related to the third word in the same way as the second pair is related to the first pair. 39 fqhed &1 99 % o R Weg § I TR Taifda § oR

Q.No: 53
Sheep : Lamb :: Cow : ? NG : T :: M : 2
A Calf CEE)
B Caterpillar Ev—vﬁ
C Cub GH
D Kitten ot 1 s
Select the Lettered pair that has the same relationship as given in the question: I &R W BT 999 Y orgeT Yae gy 7 fow 78 g0 day
Q-Hgs 34 Paper : Ream IR : 0
A Eggs : Dozen 3 : oA
B Books : Pile o : @)
C Twigs : Bush EEﬁTﬁ' . 3"31
D Food : Packet Ao : Udbe
Select the letter-cluster that can replace the question mark (?) in the following series. FrafafEa s # I s1eR-Tg &1 99 B ol Uy {797 (?)
GNo: 38 HG, 13, KM, NP, ? HG, 13, KM, NP, ?
A QP QP
RS RS

C oP oP
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PQ

The compound interest and the amount obtained, on a certain sum of money are Rs. 3937.5 and Rs. 10,937.5
respectively after 2 years. If the rate of interest compounded yearly, then the rate of interest is:

25%
20%
15%
35%

Find the compound interest of Rs 10000 at the rate of 8% per annum for 2 years.
1664
1600
1680
1650

What will come in place of question mark (?) in the following expression?
14% of 1284 + 33% of 2485+54% of 1900=?

2028.65

2021.25

2027.14

2025.81

There are 80 students in the final examination of class X and 15% failed. Find the number of students who
passed.

62
68
65
60

A sum amounts to Rs. 1123 at 10% per annum in 2 years, compounded annually. Find the sum.
Rs.920.377
Rs.928.099
Rs.640.432
Rs.891.234

The average weight of a group of 12 persons increased by 2.5 kg when 3 men of 40 kg, 38 kg and 42 kg are
replaced by 3 women. What will be the average weight of 3 women?

60 kg
50 kg
35 kg
48 kg

A sum of money placed at compound interest doubles itself in 5 years. In how many years, it would amount to
eight times of itself at the same rate of interest?

20 yr
15 yr
7yr

10 yr

The number thatis to be added to 10% of 320 to have the sumas 30% of 230is

32

PQ

o Ay IR W 2 a6l F 918 Tl e SR T I HER
e el 31 &R a1ffer U | FARI St 2, A e 1 R I

25%
20%
15%
35%

2 T & T 8% Ui ad &t R ¥ 10000 TH FT THhgls 1
1664
1600
1680
1650

Fafifea o d uy g (?) F =M R |1 M
1284 BI 14% + 2485 BT 33% + 1900 FT 54% = ?
2028.65

2021.25

2027.14

2025.81

d Fem BT Sifom Tdtem F 80 B ¥ SR 15% oreliol 1 3

62
68
65
60

AfYF THE W W 10% aF 1o 3 & F 2 Juf § T
Rs.920.377
Rs.928.099
Rs.640.432
Rs.891.234

12 ! & qug & oM gor A 2.5 o 1 9 St R <
3T SRt §1 39 3 Afgansit &1 shd o fSran geme

60 fam
50 f&m
35 fem
48 fem

Thgfs S IR I TS TP 4RI 5 94 & W S G g1 9

20 T
15 a¢
794
10 o

5 T ol 320 & 10% H SieH W aFT 230 H1 30% B

32



Q.No: 64

o 0O w »r

Q.No: 65

O 0O W

Q.No: 66

O 0 o

Q.No: 67

o 0O @ >

Q.No: 68

o o w

Q.No: 69

o 0 w >

Q.No: 70

o 0o @ »

Q.No: 71

73
23
37

500 ml milk is filled in one bottle and six such bottles are paced in one packet, the number of packets needed for
450 liters of milk is:

165
155
130
150

Which one of the following option is correct?
%loss=(loss/SP)x100
loss=(%loss/CP)x100
%loss=(loss/CP)x100
loss=(%loss/SP)x100

Mohan spends 68% of his income and also able to save Rs 1,500 per month. Find his monthly expenses?
Rs 3187.5

Rs 2167

Rs 3200.5

Rs 3000

Two friends invested in a business in the ratio 10: 7. After six months, the first friend withdrew half of his
investment. At the end of the year, the second friend received a profit of Rs. 21000. Find the profit received by the
first friend.

Rs. 22500
Rs. 18500
Rs. 24000
Rs. 21000

If loss is Rs.700 and selling price is Rs.1400. Find the percentage of loss?
12.12%
22.22%
33.33%
11.11%

Mr. Stark gave 35% money he had to Bruce. He also gave 30% of the remaining amount to each Natasha, Captain
and Vision. Half of the remaining amount he spent on miscellaneous items and the remaining amount of Rs 14000
he deposited in Marvel's fund. How much money did Mr. Stark have initially?

Rs 1,95,000
Rs 2,00,000
Rs 4,00,000
Rs 1,50,000

A salesman sells two perfumes for Rs 308 each. On one perfume he gets 12% profit and on another perfume 12%
loss. Find the overall profit or loss?

Rs 12
Rs 18
Rs 10
Rs 9

Which of the following will come in the place of question mark?

73
23
37

% siad & 500 el g R S ¥ 3R U Yde # Ut o

165
155
130
150

i & 3 o o e 9 82
T % =(g11/f3%a gea)x 100
BN = (31 % /%9 Tea) x 100
B % = (F1/%49 Gea) x 100
BN =(81 % /fasa gea)x 100

TR U ST T 68% 1T Fl ¢ AR WRT A8 1,500 IR
3187.5 ¥

2167 9

3200.5 ¥

3000 ¥

I T 10: 7 & YU H TP ey § Fa fean w8 A
T, GO GRd BT 21000 FYY FHT AH U g3l U5 G Bl
22500 ¥
18500 ¥9%
24000 ¥9%
21000 93

Ife g Rs.700 ¥ 3R fasha Tew Rs.1400 B1 B1F &1 ufarwre
12.12%
22.229%
33.33%
11.11%
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e fgvn S fafae aegell &R @ o iR 9w 14000 T
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1,95,000 ¥93
2,00,000 35
4,00,000 T
1,50,000 ¥93

% I & WOy UAS S 308 IUY F 91 1 TP RER
B9 A 1 g1 T Bioa?

12 ¥9
18 30
10 ¥
9 ¥l

Frafafed # 9 w1 Uyaas g & ®IF | oM ?



ccb -c-bbc-b-cc--ccbb ccb -c-bbc-b-cc--ccbb

A aaaaba aaaaba
B bbbbbb bbbbbb
C bccebb bccebb

D bccbbb bccbbb

S U9 W qd § SMuRr oo 3 1 A 1 o YF: SMafRy g 6t B 1 FH

In the.question, assuming the given statements to be true, find which of the two conclusions I and II given below oy 3, Ru U Bl @) w9 W 8T, FIre F 9% A1
them is/are followed.
DY

No gentleman is poor. P T TS T B
Q:No: 72 A gentiemen are rich. Tl T o B
e
1. 3% oft e srrert ¢t T 1
11 1 i erfk srert e 7 &

Statements:

Conclusions:
I. No poor man is rich.

I1. No rich man is poor.

A Only conclusion I follows Faq ey 1 SRT PR &
B Only conclusion II follows Faa ey 11 3R ST @
c Either conclusion I or conclusion II follows a1 4 frsed 1 o e 11 argeRe SR @
D Neither conclusion I nor conclusion II follows = @t fased 1 7 7 e 11 SrgeRor R §
Find the missing term. i g Jd Fiforgl
All6] O All6| O
Q.No: 73
U|[26]E U |26 | E
R [22] 72 R [22] 72
A B B
B I I
(o} D D
D
Find the missing term. g U< 1T B
53 28 53 28 55 14
Q.No: 74
72 47 72 47 ? 45
A 92 92
B 44 44
C 86 86
D 56 56
In the question given below, some statements are given followed by few conclusions. You have to consider the R Rr Ty, 35 T 3R 9 5% Wﬁ f Ry

statements to be true even they seem to be at variance from commonly known facts. You have to decide which of T B8 S| ST T8 T B 2 i 2w Ty st § 9 @R
the given conclusions, if any follow from the given statements.

Y

Some herbs are plants. Fo III-gfeai 1l g
Q.No: 75 mﬁa@_ﬁaﬁﬁy@q‘f%

All herbs are shrubs.

Statements:

& fArsed:
Conclusions:
I. All shrubs are plants. L Wit gl e 1
11 9 9 sfsar €1

I1. All plants are shrubs.



o 0O W >

Q.No: 76

O 0O w

Q.No: 77

o 060 w >

Q.No: 78

o 0O ®w

Q.No: 79

o 0o w

Q.No: 80

o 0 o >

Q.No: 81

both conclusion I and II follow
neither conclusion I nor II follows
only conclusions II follows

only conclusion I follows

If DON is coded as 345 and ROAM is coded as 6412, then how will RANDOM be coded?
615324
615342
613542
651342

Dates of birth of some person are given below. Find out the date of the youngest person:

a. 12.08. 1968
b. 13.09.1968
c. 19.06.1968
d. 20.02.1968
e. 22.03.1968
f. 20.01.1968

c

b

If AS = 19 and BAT = 40, then how will you code BREAD?
720

30

205

625

If 'LAME' is written as 'ODPH', how can 'MALE' be written in that code?
PDOH
HOPD
DOPH
OPDH

Find the missing term.

75

(3]
o~

225
125
123
255

e 1 ok 11 @Y SrgaR Bea &

@ Frepy 1 iR T € 11 SR FRar &
Faa ey 11 3R et §

Fad Freed 1 sgERT B 8

afe DON B 345 & TU & Feas fHar I & 3R ROAM B 6412 & w7
615324
615342
613542
651342

Tt safd & S 1 Al i <t 718 § o I % ok ¢

a. 12.08. 1968

o

. 13.09.1968
€. 19.06.1968
d. 20.02.1968
e. 22.03.1968

f. 20.01.1968

& AS = 19 3R BAT = 40 g, T 37 BREAD &1 & HIS i
720

30

205

625

I 'LAME' &1 'ODPH' foral @I €, @ 39 % § 'MALE' & f
PDOH
HOPD
DOPH

OPDH

G U< F1d HINY

75

225
125
123
255

Circle is bigger than Square in size. Triangle is bigger than Circle in size. Rectangle is bigger than Triangle in size. I &R # @7 ¥ g1 ¢| FAYS MR H g0 I TS1 71 9M4q &

Rhombus is biggest in size. If they draw according to their size in a row, who will be exactly in the middle? g 32 U UfRT H I PR & SR g fbar wmen &,
Triangle ﬁ’i‘_"
Square it



Rectangle 3
Circle 9

A series is given, with one term missing. Choose the correct alternative from the given ones that will complete the
Q.No: 82 series.
ELFA, GLHA, ILJA, ?, MLNA

feu T 3rgepm 71 UF UG g o1 o U et ' & Wt fase

ELFA, GLHA, ILJA, ?, MLNA

A KLMA KLMA
B OLPA OLPA
C LLMA LLMA
D KLLA KLLA
Q.No: 83 Ina row, Anu is 28th from the left end and Siya is 15th from th‘e right end, \fvhen theY interchangeitheir positions  T® UfeR H, S T BR § 289 3R R g ®R § 159 ”F
respectively, Anu becomes 30th from the left end. Then what will be the position of Siya from the right end? St g1 <Y 3 BR A R w1 =E T gime
A 17th 17d
B 29th 204t
o 26th 26dF
D 27th 274
I Y W yd F SmaRy oof 3 o gt }1 o g oimufy gef e Y o Wb
Nikhil ranks 6th in a class. Shivam is 9th from the last. If Tarun is 7th after Nikhil and just in the middle of Nikhil & SHg B (T &1 ¥ @o1 ¢ e ofd 3 9 /A W 71
Q:No: 84 4 Shivam. Then how many student are there in the class? g a0, fAfEa & a1 78 ®IF I § a1 R ik Ran &
A 28 28
B 25 25
C 30 30
D 26 26
Q.No: 85 If T = 20, MEDIA = 32, then ELICIT = ? fg T = 20, MEDIA = 32 %, @ ELICIT = ?
A 57 57
B 60 60
C 59 59
D 58 58
Q.No: 86 Which of the following is divisible by 21? Frofafaa # & @ 21 F Rusa 82
A 98294 98294
B 56427 56427
C 23456 23456
D 34879 34879
Q.No: 87 Which of the following is divisible by 14? Fofafaa # & @1 14 J AT 82
A 45872 45872
B 89237 89237
C 54322 54322
D 61250 61250
Q.No: 88 Findthe HCF of (2% —1)and (25— 1). (255 1) AR %5 1) BTHA FA BRI
A 64 64
B 31 31
C 63 63
D 32 32

QNo: 89 The value of 271-27/27"4+27"1 is 271-27/2M 2 LA &



5 5
B 13 13
1 =
c 13 13
1 1
D e (BN —,
36 36
Q.No: 90 Simplify (1000)* + (10)*® = ? TG Y (1000)* + (10)° = 2
A (100)* {100)*
100 100
C 10 10
D (1000)? (1000)*
Q.No: 91 What will be the cost of fencing a circular garden of radius 35 m at the rate of Rs. 16 per meter? 16 393 U Hiex 31 &R ¥ 35 Hiex a1 & TR STH &1 §
A Rs.3160 3160 ¥4
B Rs.2850 2850 T
c Rs.3520 3520 ¥
D Rs.3240 3240 T
o fRed &1 W, 3T & N F 1 T &1
Q.No: 52 The denominator of a fraction is 1 less than twice the numerator. If the numerator and iy
.No: = 2 g o e wg fifew
denominator are both increased by 1, the fraction becomes g Find the fraction s A ©l !
4 4
A ; 7
3 =
B s 5
5 s
C 5 9
2 2
D 3 3
Q.No: 93 The sum of two numbers is 36 and their HCF is 4. Find the possible number of pairs? < gemeft 31 ATHd 36 ofR W.9.9. 4 T T Hufaa Te
A 4 a4
B 5 5
C 2 2
D 3 3
Q.No: 94 Ashok’s age, 30 years hence, will be twice his age five years ago. Find his present age. (in years) SNF B 21, 30 Y 91E, ID! 4T I U5 BI g P IR,
A 40 40
B 60 60
C 50 50
D 35 35
Q.No: 95 The sum of 4 consecutive numbers are 106. The greatest number is: 4 HONT GEmsii AR 106 T Y S T 7
A 28 28

B 40 40
C 25 25
D 45 45



Q.No: 96

o N w r

Q.No: 97

O N0 w

Q.No: 98

o 0 o r

Q.No: 99

o 0O @ >

Q.No: 100

o 0O @ >

Simplify -
3.4X064+0.17X 16
6.8 X 0.0004 -

?

840
900
920
720

Which of the following is divisible by 9?
138642

93457

97568

642762

Three persons start walking together and their steps measure 40 cm, 42 cm and 45 cm respectively. What is the
minimum distance each should walk so that each can cover the same distance in complete steps

100 m 80 cm
50 m 40 cm
25 m 20 cm
75 m 60 cm

The area of a square and a rectangle are equal (225 sq.cm). The length of the rectangle is greater than the length
of any side of the square by 4 cm and the breadth is less than 2 cm any side of the square. Find the area of
rectangle?

247
225
256
196

What value would come in place of the question mark (?) in the following equation?

(4 x 18)335 x (8)%2 x (64)73 x (27 x 3)%° = (72)

WA PIfore-

3.4X064+017X16 _,
6.8 X 0.0004 '
840
900
920

720

frofafea & & $1 9 3 faursa 32
138642
93457
97568
642762

o Sl U@ Y T T B § SR D B HIL: 40
TdS B It IfeT dlfe Yd® gl HeH H M g8 &1 a7 |

100 Hiex 80 FH
50 Htex 40 It
25 #Hiex 20 9+t
75 #iex 60 It

T T 3R TP M1Ad BT §T6d SRR (225 F Jufhy 1 3
i 3 fopedt oft e 3 2 At & 1 31 omTE o1 Awa T ¢

247
225
256
196

Fafafaa gfioxo & uyams fag (2) & W R F1aE 3

(4 x 18)%35 x (8)%% x (64)"3 x (27 x 3)¢

8.3 © MPESB. All rights resdhod
3.35 3.35
24.15 24.15



